
Unit 6 Day 8 Notes on Linear vs Exponential 
 

Let’s do a comparison: 
3y x  (Linear) 
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3xy   (Exponential) 

 
 

x -1 0 1 2 3 4 
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Compare the two graphs. How are they similar? How are they different? (Pay attention to how the y values “grow”) 
 
 
 
 
 
 

In general, an exponential is of the form 
xy b . Let’s agree on two restrictions on b. 

1) 1b  . Consider 1xy   

x -1 0 1 2 3 4 
y       

 
 
 
 
 

2) 0b  . Consider  2
x

y    

x -1 0 1 2 3 4 
y       

 
 
 
 
 
 
 
 



Linear or Exponential? 
Decide if the equation is linear or exponential and then write an equation that represents the “rule” for the table. 
 

x -2 -1 0 1 2 3 
y 2 4 8 16 32 64 
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